g >
= 8
< °
5 5107
1072
o o103
T T
nd nd
- 1-
0983 =" -1 0 12 3 09853 = -1 0 12 3
TP n (PCA to beamline) TP n (PCA to beamline)
s R e e ﬁé\ﬁi"?‘lﬂec“cggu
= BOMV001-RA00000AT—Globa—mKElNewRBH—RECS
—— DQM~VO001~R00000000: Global—™mkFitNewDett “TRECO
=) £ ;
5 ) SRR :
% = ) N
s o | 5
5 © :

""" ;" '15. d : """"""""
01Q\-Jg,....|....|....|....|....i.... 01Q\-Jg,....|....|....|....|....i....
g f g f
x X o [

1_— -------- " 9 R 1_— --------- b [ A
0983 =51 0 12 3 0983 =51 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
= 1 :
E. N
-
o
=)
o}

,_.
<
L

23722 -1 0 12 3
TP n (PCA to beamline)



	Contents
	Page 1


